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M QHME HHDIEH =g
&l SZEIHWH 2t EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
ZME 21 39,764,867 33,728,428 1,036,439
= 265,950 124,950 141,000
= 7,368,200 7,368,200 0
7 1,165,599 952,000 213,599
[ 30,965,118 30,283,278 681,840
ot = FRHDIE & 38,628,105 37,591,666 1,036,439
= 265,950 124,950 141,000
= 7,368,200 7,368,200 0
2l 1,165,599 952,000 213,599
< 29,828,356 29,146,516 681,840
=SZEI WS L3t 3,685,413 3,425,413 260,000
oAl - M - 2o 22935t 175,000 25,000 150,000
307 gI2to1 & 55,000 25,000 30,000
04 QIFEHAIAIE 2 & 55,000 25,000 30,000
OZd ZHe SEdet X8 X2 55,000 25,000 30,000
308 RIXIEME0IH 120,000 0 120,000
01 XML EES 120,000 0 120,000
OZ& ALIN &+ 2HEta] JHE 120,000 0 120,000
ANEZHEH 28 =4 3,3%,513 3,326,513 30,000
307 @lztol ™ 75,600 45,600 30,000
04 QI2FEHATAIE 2 & 30,000 0 30,000
oZd ZHel storstial Hxl XA 30,000 0 30,000
S g =4 S X 90,000 10,000 80,000
308 XXM SOIA 80,000 0 80,000
18 S 2SS & AEAIE 80,000 0 80,000
oO=glixuY 29 80,000 0 80,000
HSAIE SZHe 15,406,628 14,621,189 785,439
= 7,368,200 7,368,200 0
2 213,599 0 213,599
[ 7,824,829 7,252,989 571,840
HEAZ AESHE X3 (HEAY) 3,874,108 3,580,108 294,000
403 RIS SAH=0lH 3,874,108 3,580,108 294,000
AXI SR A=2EE 3,874,108 3,580,108 294,000
OFEX ZSANE &4 =H(HEH 180,000 0 180,000
O=d SRAZE 2arg(ME) 18,000 0 18,000
OLE FRIANSAIE W) (A
&) 114,000 57,000 57,000
OZE MRAIE ZISEA 4X], 8l E=
(M&h) 90,000 51,000 39,000
SHHLEAIE AX(=1) 108,704 0 108,704
2l 9,320 0 96,320
< 12,384 0 12,384
308 XXM SOOI 108,704 0 108,704
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
J| 96,320 0 96,320
=S 12,384 0 12,384
01 HXSHH B E2ES 108,704 0 108,704
ONSAE SHLEAIE &X & 108,704 0 108,704
J| 96,320 0 96,320
= 12,384 0 12,384
HSAE el A5t 22,600 20,600 2,000
307 212+01& 19,000 17,000 2,000
02 QIZtAHAIEE X 19,000 17,000 2,000
OZAa0l AdlA o2talol =24 19,000 17,000 2,000
Eo2ZEANE SL(2IEEXH) 117,000 0 117,000
308 XtXIEMSO0IH 117,000 0 117,000
01 RSN EES 117,000 0 117,000
O=ZstAZEANE T4 117,000 0 117,000
ANZBSSE AR AL (R E R 36,000 0 36,000
307 212t01™ 36,000 0 36,000
02 QB EANGEEX 36,000 0 36,000
OHSAE E2ES 36,000 0 36,000
HAZS SHSAI(ZIHEEERY) 54,000 0 54,000
308 AXIHMSO0IA 54,000 0 54,000
01 X SHHBAEXS 54,000 0 54,000
ozdEE Ed3AIY 54,000 0 54,000
HLZ I (2HENR) 33,000 0 33,000
308 XtXIEMSO0IE 33,000 0 33,000
01 RSN EES 33,000 0 33,000
OxZZ JIgtxH 33,000 0 33,000
CEEA FUIA(Z2D) 140,735 0 140,735
Jl 117,279 0 117,279
= 23,456 0 23,456
308 XXIHMSO0IA 140,735 0 140,735
p) 117,279 0 117,279
= 23,456 0 23,4%6
01 X SHHBAEXS 140,735 0 140,735
ONSAE =288 FH| 140,735 0 140,735
Il 117,279 0 117,279
&< 23,456 0 23,4%
Jr2el2t AHIRES 1,278,561 1,137,561 141,000
= 265,950 124,950 141,000
== 1,012,611 1,012,611 0
A HEE X|(2D) 141,000 0 141,000
= 141,000 0 141,000
308 AHXIHMS0IA 141,000 0 141,000
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SA -3 - SA(3) - MISAY - B85 Oi &k N3 A Hws2
= 141,000 0 141,000
01 AXSHHELEXS 141,000 0 141,000
oxsIAgA gz K& 141,000 0 141,000
= 141,000 0 141,000
XA He =& 1,262,400 1,412,400 A150,000
CIXIEHHA M2 &X - 2Y(SHEEXH) 400,000 550,000 A150,000
307 QI2+01™ 400,000 550,000 A150,000
02 QIZHAAAE 2L 400,000 550,000 150,000
OUXNEANHA 82012 &Xl - 2E 400,000 550,000 150,000




